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BT 4 | A 5K 7 % > myT 4 | M 3R 7 = = mpOT 4 | %K ) 7 P myOT 4 | 3 7 = =
Bw 1T A 243 276 299 575|F » WEATS T H 519 598 609| 1,207|%r BT 7 T H 1,196 1,575 1,417 2,992 |HiAHBT3 T H 217 291 281 572
B W 2T B 377 419 412 831|T » WEMT6 T H 377 413 428 8413 BT 8 T H 476 590 604| 1,194 |/h | 4,435| 5,419| 5,508| 10,927
B w3 T A 288 346 352 698 s 9,291| 10,863 10,783 21,646(% BT 9 T H 963 1,185 1,052  2,237|T{RE1TH 102 107 112 219
FE4ET1T B 145 159 135 294 | IE 593 644 690 1,334|K )BT 1T H 128 117 119 236| _fRE2T H 300 362 370 732
FasET2 T B 96 87 91 178|% L HT 1 T H 305 408 390 798K JAHT2 T H 331 375 367 42| ZA{RE3 T H 272 321 347 668
7R3 T H 123 146 171 317|% W2 T H 594 700 675 1,375 5 8,307| 10,323| 9,428 19,751| " f%R4T H 126 133 159 292
£ L HT 279 279 306 5859 M7 3 T H 1,436 1,525 1,436 2,961 | 0BT 1T H 796 934 895| 1,829| “{REST H 96 125 124 249
N HT 421 439 447 886|% EHT 4 T H 741 796 766 1,562 AT 2 T H 296 383 351 TR H 1T H 73 81 81 162
fip L) 216 220 238 458| K P9 1 T H 768 899 889 1,788 ({r D BT 3 T H 228 262 270 53213 2T A 126 155 154 309
1= T 128 123 139 262K M 2 T H 323 409 400 809 [T I W] 4 T H 734 742 713|  1,455|3R H 3 T H 119 126 124 250
* F W 181 216 233 49|k 3 3 T H 685 843 873 1,716 ({0 BT 5T A 726 738 732 1,470 |4 & A mT 182 182 205 387
= fF HT 445 479 533 1,012|4 A 427 388 476 864 | ET6 T H 1,218 1,350 1,330 2,680(f & 1 T H 59 55 60 115
K o WE HT 495 566 580 1, 146|& 52 430 521 548 1,069 [ 30 BT 7 T H 1,087 1,090 1,160 2,250|4 &£ 2 T H 69 78 78 156
W/ kT 306 307 327 634| A # F1 T H 249 312 317 629 {7 D BT 8 T H 774 882 736| 1,618|f1 & (L 36 63 78 141
KB HET 516 602 585 1,187 K8 F2 T H 238 332 339 671D AT 9 T H 936 907 967|  1,874|/h at 1,560 1,788 1,892 3,680
HinfnE1T B 208 226 247 4734 S 1 T H 477 692 648 1,340 [{r[ 2 BT10T A 845 780 766 1,546|% [ 1 T H 413 290 328 618
HmEfnHE2T H 278 321 342 663|454 F 2 T H 86 101 101 202 Sip 7,640| 8,068| 7,920 15,988|% [ 2 T H 90 97 100 197
HmEfiHE3T H 305 385 402 78714 3 T H 333 466 426 892\ & 1 T H 182 201 213 4148 W 3 T A 257 190 193 383
Ft 5,0650| 5,596| 5,839 11,4354 ¢ 4 T H 538 725 697 1,422 #& 2 T H 947 1,305 1,213 2,518/ K1 T H 93 121 100 221
B AKRTL T H 231 283 287 57014 3 5 T H 466 618 618 1,236 #& 3 T H 332 426 427 853[/NEr AK2T H 46 59 61 120
By AmT2 T H 352 411 405 816 s 8,689| 10,379| 10,289| 20,668|%4 H 1 T H 1,294 1, 486 1,483  2,969|/h& K3 T H 180 236 230 466
By AKRT3 T H 206 281 276 5573 5 M 1 T H 478 466 525 91|14 #H 2T H 970| 1,097 1,186 2,283|/N@ K4 T H 238 189 263 452
El1TH 698 722 754 LAT6|W H M2 T H 825 821 865 1,686(4 #H 3 T H 882 1,019 1,001 2,020|/h& A5 T H 73 81 96 177
Ei2TH 702 864 873 LTI & M3 T H 1, 066 1, 101 1, 087 2,188|4 # 4 T H 0 0 0 O R 1T H 204 173 210 383
EW3TH 378 520 516 1,036 |3 & M4 T H 729 711 708 1,419(4 # 5 T H 176 55 155 2102 R 2T H 255 327 306 633
Ei4TH 777 875 967 1,842|W H M5 T H 958 964 978 1,942 G 4,783 5, 589 5,678 11,267(H R 3 T H 412 239 377 616
EW5TH 531 548 563 LUK M6 T H 370 422 386 808 |/ | 51,449 58,807 58,025[ 116,832/ G 2, 261 2,002 2, 264 4, 266
E e T H 155 211 219 43014 » 1 T H 417 468 471 9394 1 T H 351 441 406 847(p A 1 T H 258 211 282 493
EW7TH 485 540 490 1,030(#R » fi2 T H 798 733 851 1,6840 2 T H 424 480 511 991 A2 T H 388 281 291 572
E 8T H 267 322 311 633|ff [ BT 1 T H 334 419 391 81004 h 3 T H 428 546 552 1,098k A 3 T H 111 138 135 273
EW9TH 3 4 3 7|6 [E BT 2 T H 701 840 835 1,675(Ffn HHET LT A 218 274 268 542 A 4 T H 60 59 62 121
KHET1TH 307 368 356 724 |fifi fi BT 3 T H 553 593 551 1,144 (fn HET2 T A 270 328 351 679(p A5 T H 76 77 81 158
RKHEWT2T H 362 346 337 683 |ffi [ BT 4 T H 460 451 440 891|fE #% 1 T H 149 203 195 398|pk A6 T A 38 51 51 102
RKHEBT3T H 292 391 361 752 =i 7,689 7,989| 8,088| 16,077|#E 4% 2 T H 166 195 221 416\ A7 T A 71 88 90 178
K HEWT4T H 314 390 397 787|% BT 1 T A 1,137 1,411 1,321 2,732\ 4 3 T A 180 229 217 446|p% A 8 T A 103 128 103 231
K HEHBTS T H 299 362 369 7318 BT 2 T H 707 936 802 1,738(HE 4% 4 T H 207 251 243 494 [/ 2 1,105 1,033 1,095| 2,128
T4 W1 T H 677 783 792 1,575[8r B 3 T H 1,492 1,716 1,492 3,208(#E # 5 T H 481 623 640| 1,263 | 88 Af A #F| 9,361 10,242 10,759 21,001
T WHET2 T H 521 629 612 1,241 B 4 T H 656 792 772 1,564 |# %5 6 T H 491 660 597  1,257|& 2 60,810| 69,049| 68,784 137,833
T WERT3 T H 396 493 420 913[¥r BT 5 T H 1, 120 1,489 1, 360 2,849 |4l AR BT 1T H 374 468 459 927
T WHETAT H 442 509 438 947\ BT 6 T H 101 137 122 259 A BT 2 T H 479 430 567 997




